DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

Drvsion Name:
Time: Score: y—
H —96] = 10 = 16) 098.5 =10 =
29 3479 = 5 = 1M —6087 = (—1) =
5 —7823 =10 = 1) 4211.2 - 0.8 =
1 —=2.7084 = 0.003 = 1922330 =+ 10 =
5 18288 + (—9) = 200 17.11 + (=0.05) =
6 3887.1 +9 = 20 —406 + 10 =
N 46.218 = 0.6 = 2) 48 +5H =
9 21294 + (—=0.7) = 2 2514 +3 =
9 4704 — 6 = 24) —40.768 = 0.8 =
0 7.5213 = (—0.09) = 5 —216.87 + 3 =
) —1476 = 10 = 6) —1292.2 + (=2) =
12) —33210 =5 = ) —5023.2 + (—8) =
13 5.88 =3 = 28) —19864 = 8 =
) 1455 = 1 = 2) —4.477 + (—0.05) =
15 1265.4 + (—6) = 10 —261.92 + (—4) =

Mathematics: Division - Level 6 - Horizontal - Set 3
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